THEWAE (R 28 Kl

T L IR 9:00~11:00

Answers to questions can be given in Japanese or English.

1. Obtain the general solution of the ordinary differential equation,

2
(1—£x2jdxy+xd—i—y=0, )

by assuming a solution in the form of a power series (-~ =#%#%) with unknown coefficients a_,

y:iamxm. 2

m=0

2. Find the eigenvalues ([& 1K) and eigenvectors ([ <X~ kL) of the matrix,

3 -1 1
A=|-1 2 3 (3)
1 3 -2

3. Evaluate the line integral :ﬂ(y—sin x)dx+cosxdy] where C is the triangle shown in Fig.1.

The positive direction in traversing C is from (0,0) to (xz/2,0) along OA, from (z/2,0) to
(#/2,1) along AB and from (z/2,1) to (0,0) along BO.
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